Determining the rule for a parabola (4B)
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Recap

¢ Workto be completed at the end of teaching:

We have been looking at how quadratics can be so me-hqw writing them in various forms can aid in sketching them. ™ oxis S Sy “‘“[:7
Alot of work in Mathematics seems to be taugl , i.e. we teach it one way and then we hope you'll be able to ‘Quardratic rules (important and vital) P 1-8(s)
apply the learning and do it in reverse. X GXAS
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g The differentways of writing quadratics

The standard form of a quadratic: @ 3 points needed tofifida, b and o) A~ 3 equahtml
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Turning point form: / y=ax btk
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Crossipgaint form: y LQx —b)(x - ©) This is best used when they give you two "@where they cross the x-
axis.
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We can use the above equations and apply them in information given in a questions to find the "equation of the quadratic".
Examples:
” o R
E.g. 1: Determine the rule for a parabola which passes through the pcintsnﬂan@ y= @ (1 MW Lf)
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E.g. 2: Determine the rule for a parabolaif you are told the turning point is nd it passes through the poin o
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£.g. 3: Find the rule for a parabola if you are told that it has two x -axis intercepts at (-5, 0) and (7, 0) and passes through the point{(1, -18)
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